NIQ No. 475/Part-IV/Admn/64



April 12, 2019

NOTICE INVITING QUOTATION

Sealed Quotations are invited from the bonafide, resourceful & experienced Civil Contractor Agencies/Engineering Concern having requisite expertise & adequate experience for the under mentioned works to be undertaken at the Head Office Building of The West Bengal State Cooperative Agriculture & Rural Development Bank Ltd. at the 25-D, Shakespeare Sarani, Kolkata-700 017 as per Technical Specifications & Schedule/Scope of Works as detailed in the Annexure-I attached herewith and with the broad terms & conditions appended below.

Nature of the Works: Urgent Civil Works relating to repair, renewal & renovation of the existing damaged Roof Structure of the Canteen & Kitchen at the 4th Floor of the Head Office Building of The WBSCARD Bank Ltd. including covering the entire roof of the Canteen/Kitchen with Steel Sheet having Zn-Al Alloy coating at the above location of The WBSCARD Bank Ltd.

Eligibility of the Contractor: The intending Quotationers should possess Experience Certificate on execution of similar nature of works in the field of Roof Sheeting works having sufficient & satisfactory credential and clearance certificate of PT, ST & IT.

Broad Terms & Conditions:-

- 1. Rate at percentage above, below or at par the rates of the Estimated Cost/Value of Work put to the Quotation amounting to Rs. 51,238.00 calculated as per Specific Priced Schedule of probable items of works shown in the Annexure-I should be quoted in figures as well as in words in the Letter Head of the Company and the same must reach to the Office of the Managing Director, The WBSCARD Bank Ltd. at 25D, Shakespeare Sarani, Kolkata- 700 017 in Sealed Cover.
- 2. Intending Bidders must inspect the above-mentioned work-site before submission of the Quotation.
- 3. The rates quoted should be inclusive of transportation/delivery charges and other incidental charges etc. GST should be quoted separately as per prevailing norms.
- 4. All the Tools and Plants required at Site should be arranged by the Contractor at his own Cost.
- 5. The Authority shall have the right to direct execution of any item beyond schedule of work as may be found necessary for the job or reject any item of work depending upon the suitability during execution of works.
- 6. The competent authority of the Bank reserves the right to reject any or all the Quotations received without assigning any reasons thereof and is not bound to accept the lowest Quotation offered.
- 7. Time of completion of the whole work will be 20 days from the date of issue of the Work Order, failing which the order would be treated as cancelled.
- 8. A Security Deposit @ 10% of the Bill amount will be deducted at the time of payment of the bill and the same would be released after 6 (Six) months from the date of full completion of the whole work subject to satisfactory performance of the job. Such Security Deposit will not accrue any interest.
- 9. The Bidders must submit the quotations with copies of documents/Certificates of GST, PAN/TAN as per prevailing rules and payment on this score will be deposited with the authority concerned.
- 10. The Quotations must be valid for a period of at least six months from the last date of submission.
- 11. The envelope containing the Quotation should be submitted in sealed cover superscribed as "Quotation for Civil Works relating to Repair, Renewal & Renovation of the existing damaged Roof Structure of the Canteen & Kitchen at the 4th Floor of The WBSCARD Bank Ltd."





WBSCARD BANK LTD.

THE WEST BENGAL STATE CO-OPERATIVE AGRICULTURE & RURAL DEVELOPMENT BANK LTD.

- 12. Method of measurement, specification and execution of the proposed works would be governed/guided by the PWD Schedule of Rates effective on & from November 01, 2017 and for any addition or alteration/substitution of works, the said PWD Schedule of Rates will be considered as part of the agreement for successful Bidders.
- 13. Payment would be made after satisfactory completion of the work and at the accepted rates on the basis of actual physical measurement of work actually executed as per site condition. Statutory deductions like IT etc. would be made from the bill as applicable and contract terms shall be followed as per prevailing practice of PWD, Govt. of W.B.
- 14. Quotation which does not fulfil any of the above conditions or is not complete in any respect is liable for rejection.
- 15. For any other work beyond schedule of work if found necessary to be done on compulsion, rate would be fixed as per current PWD Schedule/Market Rate analysis.
- 16. The Priced Schedule of Works (i.e. Annexure-I) to be signed & submitted in a separate Letter Head Pad of the Agency.
- 17. The Quotationers may visit the **Official Website: www. icmard.org** of The WBSCARD Bank Ltd for obtaining the details of the aforesaid NIQ.
- 18. The last date & time of receiving the Quotation/Tender is 24/04/2019 upto 4 p.m.

Managing Director

NIQ No: 475/Part-IV/Admn/64/1 (3)

April 12, 2019

Copy forwarded to:-

- 1. Miss Sanchari Mitra, Manager & AFM, ICMARD with a request to upload the NIQ in the Official Website of The WBSCARD Bank Ltd.: www.icmard.org
- 2. Notice Board of the Head Office of The WBSCARD Bank Ltd.
- 3. Notice Board of the ICMARD, The WBSCARD Bank Ltd.

Managing Director

0,28

ANNEXURE - I Priced Schedule with Scope of Works with respect to the NIQ

SL No.	Description of Works	Unit	Rate (Rs.)	Quantity	Amount (Rs.)
1.	Dismantling of R.C. Floor, Roof, Beams etc. including cutting rods and removing rubbish as directed within a lead of 75 m including stacking of steel bars.	Cu. M	2156.00	0.90	1940.40
2.	Hire & labour charges for shuttering with centering and necessary staging upto 4m using approved stout props and thick hard wood planks of approved thickness with required bracing for concrete slabs, beams & columns, lintel curved or straight including fitting, fixing and striking out after completion of works 25 mm to 3 0mm thick wooden shuttering as decision & direction of E-I-C	Sq. M	407.00	18.00	7,326.00
3.	Reinforcement for R.C.C. works in all sorts of structures including distribution bars, stirrups, binders etc. initial straightening and removal of loose rust (if necessary), cutting to requisite length, hooking and bending to correct shape, placing in proper position and binding with 16 gauge black annealed wire at every intersection, complete as direction of E-I-C (i) Tor Steel /Mild Steel (SAIL/TATA/RINL)	MT	60,169.00	0.025	1,504.22
4.	Ordinary Cement Concrete (mix 1:1.5:3) with graded stone chips (20 mm nominal size) excluding shuttering and reinforcement. (i) Pakur Variety	Cu. M	4,862.00	0.70	3,403.40
5.	Taking out carefully GCI or Asbestos sheets (including ridges etc.) from roof or wall after unscrewing bolts, nuts, screws etc. and stacking the materials at site as directed.	Sq. M	41.00	13.00	533.00
6.	Removal of rubbish, broken articles (dismantled materials) etc. from the working site and disposal of the same beyond the compound in conformity with the Municipal/ Corporation Rules for such disposal, loading into truck and cleaning the site in all respects as per direction of E-I-C.	Cu. M	166.00	10.00 (LS)	1660.00
7.	Supplying, fitting & fixing Zn-Al Alloy (55% Al & 45% Zn) Coating of 150 grams per sq. meter (followed by color coated on both side) Steel Sheet work having minimum yield strength of 550 Mpa of trapezoidal profile of approved make (excluding the supporting frame work) fitted & fixed width 55 mm & 25 mm self tapping screw, EPDM Washer 16 mm dia & 3 mm thick Washer etc. complete with 150 mm end lap and one corrugation minimum side lap. (Payment to be made on area of finished work). In Roof:- with 0.5 mm thick sheet	Sq. M	787.00	17.87	14,063.69



No.	Description of Works	Unit	Rate (Rs.)	Quantity	Amount (Rs.)
8.	M.S Structural works in roof with tubular sections conforming to IS: 806-1968 & IS: 1161-1998 by way of supply, fitting & fixing medium M S pipe framework by using 50mm and 40mm dia. pipe for vertical post, rafter purline & base plate etc. connected to one another with bracket, gusset cleats etc. as per design, direction of E-I-C including cutting to requisite size, fabrication with necessary metal arc welding conforming to IS:816-1969 & IS:9595 using electrodes of approved make & brand conforming to IS: 814-2004, haulage, hoisting and erection all complete. The same arrangement is to be made as a supporting structure for resting the above roof covering shed (Ref. – above SI no. 8) in place of the Damaged Asbestos Roof covering work of the roof of Kitchen & Canteen. The rate includes the cost of	MT	61,265.42	0.225	13,784.71
	rolled steel section, consumables such as electrodes, gas, hire charges of all tools & plants and labour required for the work including all incidental charges such as electricity charges, labour insurance charge etc. Payment to be made on the basis of a calculated weight of structural tubular members as specified in IS code in finished work. Payment for gusset, bracket, cleat may be made by adding the actual weight of such items with weight of finished structural members. (i) For Trusses spanning upto 12.00 mtr.				
9.	Plastering to walls, floor, ceiling etc. with sand & cement mortar including rounding off or chamfering corners as directed and raking out joints including throating, nosing & drip course, scaffolding / staging where necessary (excluding the cost of chipping over concrete surfaces) (i) With 1:3 cement mortar for 15mm thick plaster	Sq. M	190.00	20.0	3,800.00
10.	Labour for chipping of concrete surfaces before taking up the Plastering work	Sq. M	21.00	18.00	378.00
11.	Scraping and removing greasy soot from walls & ceiling of the Kitchen or similar smoke affected rooms and preparing the surfaces		11.00	75.00	825.00
12.	Priming one coat on steel or other metal surfaces with synthetic oil bound Primer of approved quality including smoothening the surfaces by sand papering etc.		29.00	12.00	348.00



No.	Description of Works	Unit	Rate (Rs.)	Quantity	Amount (Rs.)
13.	Painting with ready-mixed Black Japan of approved make and brand including smoothening of the surfaces		T . 00	42.00	672.00
	(i) Two Coats	Sq. M	56.00	12.00	672.00
14.	Miscellaneous cost	LS	LS	LS	1000.00
TOTA	AL ESTIMATED COST (VALUE OF WORK): Rupees Fifty by Eight only.	One Thou	isand Two	Hundred	51,238.42 or say, 51,238/-

I/ We hereby accept all the above terms & conditions as laid down in the NIQ No. 475/Part-IV/Admn/64 dated April 12, 2019 and I/We also offer the Tender Rate @ % (above, below or at par) over the above Estimated Cost/Value of work of Rs. 51,238.00 to carry out the job in terms of the above Priced Schedule of Works with Scope of Works shown in the ANNEXURE-I.

Signature of the Authorized Signatory with date & Official Seal of the Agency/Company

